# ГОДИШНИК НА СОФИЙСКИЯ УНИВЕРСИТЕТ "СВ. КЛИМЕНТ ОХРИДСКИ"

Том 90, 1996

## ФАКУЛТЕТ ПО МАТЕМАТИКА И ИНФОРМАТИКА Книга 1 — Математика и механика

ANNUAIRE DE L'UNIVERSITE DE SOFIA "ST. KLIMENT OHRIDSKI"

FACULTE DE MATHEMATIQUES ET INFORMATIQUE Livre 1 — Mathématiques et Mecanique Tome 90, 1996

# FACTORIZATIONS OF THE GROUPS $\Omega_7(q)^*$

#### ELENKA GENTCHEVA, TSANKO GENTCHEV

The following result is proved:

Let  $G = \Omega_7(q)$  and q is odd. Suppose that G = AB, where A, B are proper non-Abelian simple subgroups of G. Then one of the following holds:

- (1) q = 3 and  $A \cong L_4(3)$  or  $G_2(3)$ ,  $B \cong Sp_6(2)$  or  $A_9$ ;
- (2)  $q \equiv -1 \pmod{4}$  and  $A \cong G_2(q)$ ,  $B \cong L_4(q)$ ;
- (3)  $q \equiv 1 \pmod{4}$  and  $A \cong G_2(q)$ ,  $B \cong U_4(q)$ ;
- (4)  $q = 3^{2n+1} > 3$  and  $A \cong {}^2G_2(q)$ ,  $B \cong L_4(q)$ ;
- (5)  $q = 3^{2n+1}$  and  $A \cong U_3(q)$ ,  $B \cong L_4(q)$ ;
- (6)  $q = 3^{2n}$  and  $A \cong L_3(q), B \cong U_4(q)$ ;
- (7) A ≃ G<sub>2</sub>(q), B ≃ PSp<sub>4</sub>(q).

Keywords: finite simple groups, groups of Lie type, factorizations of groups 1991/95 Math. Subject Classification: 20D06, 20D40; secondary 20G40

### 1. INTRODUCTION

In [1-3] we determined all the factorizations with two proper simple subgroups of all groups G of Lie type of Lie rank 3 except for  $G = \Omega_7(q)$ . In the present work we extend this investigation to the simple groups  $\Omega_7(q)$  of Lie type  $(B_3)$  over the finite fields GF(q). Thus we complete the determination of all factorizations (into the product of two simple groups) of all simple groups of Lie type of Lie rank 3. Here we may assume that q is odd in view of the well-known isomorphism

<sup>\*</sup> This work was partially supported by the Bulgarian Ministry of Education and Science, Grant No MM 412/94.

 $\Omega_7(q) \cong PSp_6(q)$  if q is even (recall that the factorizations of the groups  $PSp_6(q)$  have been determined in [3]). We prove the following

**Theorem.** Let  $G = \Omega_7(q)$  (q is odd) and G = AB, where A, B are proper non-Abelian simple subgroups of G. Then one of the following holds:

- (1) q = 3 and  $A \cong L_4(3)$  or  $G_2(3)$ ,  $B \cong Sp_6(2)$  or  $A_9$ ;
- (2)  $q \equiv -1 \pmod{4}$  and  $A \cong G_2(q)$ ,  $B \cong L_4(q)$ ;
- (3)  $q \equiv 1 \pmod{4}$  and  $A \cong G_2(q)$ ,  $B \cong U_4(q)$ ;
- (4)  $q = 3^{2n+1} > 3$  and  $A \cong {}^{2}G_{2}(q), B \cong L_{4}(q);$
- (5)  $q = 3^{2n+1}$  and  $A \cong U_3(q)$ ,  $B \cong L_4(q)$ ;
- (6)  $q = 3^{2n}$  and  $A \cong L_3(q)$ ,  $B \cong U_4(q)$ ;
- (7)  $A \cong G_2(q), B \cong PSp_4(q).$

The factorizations of  $\Omega_7(q)$  into the product of two maximal subgroups have been determined in [7]. We make use of this result here.

We shall freely use the notation and basic information on the finite (simple) classical groups given in [6].  $L_n^{\varepsilon}(q)$  denotes  $L_n(q)$  if  $\varepsilon = +$  and  $U_n(q)$  if  $\varepsilon = -$ . Let V be the natural 7-dimensional orthogonal space over GF(q) on which G acts, and let  $(\ ,\ )$  be a non-singular symmetric bilinear form on V. There is a basis  $\{d,e_i,f_i\mid i=1,2,3\}$  of V, called a standart basis, such that (d,d)=2,  $(d,e_i)=(d,f_i)=(e_i,e_j)=(f_i,f_j)=0$ ,  $(e_i,f_j)=\delta_{ij}$  for i,j=1,2,3. Let  $P_k$  be the stabilizer in G of a totally singular k-dimensional subspace of V. If W is a non-singular subspace of V of dimension k, we denote the stabilizer  $G_W$  of W in G by  $N_k^{\varepsilon}$  ( $\varepsilon=\pm$ ), where  $W^{\perp}$  has type  $O_{7-k}$  if k is odd, and W has type  $O_k^{\varepsilon}$  if k is even. From Propositions 4.1.6 and 4.1.20 in [6] we can obtain the structure of  $P_k$  and  $N_k^{\varepsilon}$ . In particular, it follows that

$$P_1 \cong [q^6] : ((q-1)/2 \times PSp_4(q)).2, \qquad P_3 \cong [q^6] : \frac{1}{2}GL_3(q),$$

$$N_1^{\varepsilon} \cong \Omega_6^{\varepsilon}(q).2 \cong (2, (q-\varepsilon 1)/2).L_4^{\varepsilon}(q).2, \qquad N_2^{\varepsilon} \cong ((q-\varepsilon 1)/2 \times PSp_4(q)).[4].$$

From this it follows immediately that  $N_1^{\varepsilon}$  contains a subgroup isomorphic to  $L_4^{\varepsilon}(q)$  if and only if  $q \equiv -\varepsilon 1 \pmod 4$ ; also, in  $P_3$  there exists a subgroup isomorphic to  $L_3(q)$  only if  $q \not\equiv 1 \pmod 3$ . Lemma 4.1.12 in [6] gives us a possibility to describe in  $P_1$  the subgroup L isomorphic to  $PSp_4(q)$ , namely, we may regard L (up to conjugacy in G) as the subgroup of G fixing the vectors  $e_1$ ,  $f_1$  and stabilizing the subspace  $\langle d, e_2, e_3, f_2, f_3 \rangle$  of V. In the same way, using again Lemma 4.1.12 in [6], we may take (if  $q \not\equiv 1 \pmod 3$ ) the  $L_3(q)$  subgroup of  $P_3$  to be the subgroup K of G fixing the vector d and stabilizing each of the subspaces  $\langle e_1, e_2, e_3 \rangle$  and  $\langle f_1, f_2, f_3 \rangle$  on which K induces an  $SL_3(q)$  subgroup. Note that each of the groups  $N_1^{\varepsilon}$  and  $N_2^{\varepsilon}$  also contains a subgroup isomorphic to  $PSp_4(q)$ .

### 2. PROOF OF THE THEOREM

Let  $G = \Omega_7(q)$ , where  $q = p^m$  and p is an odd prime, and G = AB, where A, B are proper non-Abelian simple subgroups of G. The factorizations of  $\Omega_7(3)$  are determined in [4]; this gives (1) and (2), (5), (7) (with q = 3) in the theorem. Thus we can assume that q > 3. The list of maximal factorizations of G is given in [7]. This leads, by order considerations, to the following possibilities:

- 1)  $A \cong U_4(q)$  (in  $N_1^-$ ),  $B \cong G_2(\sqrt{q})$  (in a  $G_2(q)$  subgroup of G), m even;
- 2)  $A \cong U_4(q)$  (in  $N_1^-$ ),  $B \cong L_3(q)$  (in  $P_3$ ),  $q \equiv 1 \pmod{4}$  and  $q \not\equiv 1 \pmod{3}$ ;
- 3)  $A \cong G_2(q)$ ,  $B \cong PSp_4(q)$  or  $B \cong L_4^{\epsilon}(q)$  (in  $N_1^{\epsilon}$  with  $q \equiv -\epsilon 1 \pmod{4}$ );
- 4)  $A \cong {}^{2}G_{2}(q), B \cong L_{4}(q) \text{ (in } N_{1}^{+}), q = 3^{2n+1} > 3;$
- 5)  $A \cong L_3^{\epsilon}(q)$  (in a  $G_2(q)$  subgroup of G),  $B \cong L_4^{-\epsilon}(q)$  (in  $N_1^{-\epsilon}$ ),  $q \not\equiv \epsilon 1 \pmod{3}$  and  $q \equiv \epsilon 1 \pmod{4}$ .

We consider these possibilities case by case.

Case 1. Here  $|A \cap B| = q - 1$ . Now let  $B_1 \cong G_2(q)$  be a subgroup of G containing B. Then  $G = AB_1$  and  $|A \cap B_1| = |SU_3(q)|$ . Since  $(A \cap B_1) \cap B = A \cap B$  has order q - 1, it follows (by order considerations)  $B_1 = (A \cap B_1)B$ . However, the group  $B_1 \cong G_2(q)$  possesses no such factorization ([5]), a contradiction.

Case 2. Here we use the following two realizations of the group  $G_1 = SO_7(q)$ :

(i) 
$$SO_7(q) = \{X \in SL_7(q) \mid X^t H X = H\}, \text{ where }$$

$$H = \begin{pmatrix} 2 & 0 \\ \hline 0 & E \\ \hline 0 & E \end{pmatrix}$$

is the matrix of the bilinear form (,) in the standart basis  $d, e_1, e_2, e_3, f_1, f_2, f_3$ ;

(ii) 
$$SO_7(q) = \{Y \in SL_7(q) \mid Y^t IY = I\}, \text{ where }$$

$$I = \begin{pmatrix} \begin{array}{c|cccc} 2 & \lambda & & 0 & & 0 \\ \hline & & & & 1 & \\ 0 & & 2 & & 0 \\ & & 1 & & \\ \hline & 1 & & & \\ \hline & 0 & & 0 & & -2\lambda \\ \end{array} \end{pmatrix}$$

is the matrix of the form (,) in the basis  $e_1 + \lambda f_1$ ,  $e_2$ ,  $e_3$ , d,  $f_3$ ,  $f_2$ ,  $e_1 - \lambda f_1$  with  $\lambda$  a non-square in GF(q).

Let  $X, Y \in SL_7(q)$  and  $Y = T_0^{-1}XT_0$ , where

$$T_0 = \begin{pmatrix} 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 1 & 0 & 0 & 0 & 0 & 0 & 1 \\ 0 & 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & 0 & 0 \\ \lambda & 0 & 0 & 0 & 0 & 0 & -\lambda \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 & 1 & 0 & 0 \end{pmatrix}.$$

Then  $Y^tIY = I$  if and only if  $X^tHX = H$ .

Now, from the above description of the  $L_3(q)$  subgroup in  $P_3$ , with respect to (i), we have

$$B = \left\{ \begin{pmatrix} \frac{1}{0} & 0 & 0 \\ 0 & M & 0 \\ \hline 0 & 0 & M^{-t} \end{pmatrix} \mid M \in SL_3(q) \right\} \cong L_3(q).$$

Further, we may take A to be the  $U_4(q)$  subgroup in the subgroup P of  $SO_7(q)$  which has the following form about (ii):

$$P = \left\{ \begin{pmatrix} 1 & 0 \\ 0 & \star \end{pmatrix} \in SO_7(q) \right\} \cong SO_6^-(q) \cong 2 \times U_4(q).$$

Moreover, we have  $P \cap G = A$  and hence  $P \cap B = A \cap B$ . A direct calculation shows that

$$P \cap B = T_0^{-1} \begin{pmatrix} 1 & 0 & 0 \\ \hline 0 & 1 & 0 & 0 \\ \hline 0 & 0 & T & 0 \\ \hline 0 & 0 & \hline 1 & 0 \\ \hline 0 & 0 & T^{-t} \end{pmatrix} T_0,$$

where  $T \in SL_2(q)$ . Thus  $A \cap B \cong SL_2(q)$  and order considerations imply  $G \neq AB$ .

Now we proceed to prove that in the remaining cases 3-5 (with suitable q) the factorizations exist.

Case 3. Let us consider the following realization of the group  $SO_7(q)$ :

(iii) 
$$SO_7(q) = \{Z \in SL_7(q) \mid Z^t J Z = J\}, \text{ where }$$

is the matrix of the bilinear form in the basis  $e_1, e_2, e_3, d, f_3, f_2, f_1$  (see (i) above). Now, with respect to (iii), we make use of the well-known 7-dimensional representation of the group  $G_2(q)$  over the field GF(q) ([8]).

The root system of type  $(G_2)$  is

$$\sum = \{\pm \xi_1, \pm \xi_2, \pm \xi_3, \pm (\xi_1 - \xi_2), \pm (\xi_2 - \xi_3), \pm (\xi_3 - \xi_1)\},$$

where  $\xi_1 + \xi_2 + \xi_3 = 0$ . Let E and  $E_{ij}$ ,  $-3 \le i, j \le 3$ , denote the  $7 \times 7$  identity matrix and matrix units, respectively. Then the generators  $x_r(t)$   $(r \in \Sigma, t \in GF(q))$  of  $G_2(q)$  are represented as follows:

$$x_{\xi_i - \xi_j}(t) = E + t(E_{-i-j} - E_{ji}),$$

$$x_{\pm \xi_i}(t) = E + t(\pm 2E_{\mp io} \mp E_{o\pm i} \pm E_{\pm j\mp k} \mp E_{\pm k\mp j}) - t^2 E_{\mp i\pm i},$$

where (i, j, k) is an even permutation of 1, 2, 3. Note that

$$\omega_r = x_r(1)x_{-r}(-1)x_r(1), \quad h_r(t) = x_r(t)x_{-r}(-t^{-1})x_r(t)\omega_r^{-1}.$$

Any element of  $A \cong G_2(q)$  can be written uniquely in the form

$$x_a(t_1)x_b(t_2)x_{a+b}(t_3)x_{2a+b}(t_4)x_{3a+b}(t_5)x_{3a+2b}(t_6)h_a(u)h_b(v) \omega x_a(s_1)x_b(s_2)$$

$$x_{a+b}(s_3)x_{2a+b}(s_4)x_{3a+b}(s_5)x_{3a+2b}(s_6),$$

where  $a = \xi_2$ ,  $b = \xi_1 - \xi_2$ ,  $t_i$ ,  $s_i \in GF(q)$ ,  $u, v \in GF(q)^*$  and  $\omega = 1$ ,  $\omega_a$ ,  $\omega_b$ ,  $\omega_a\omega_b$ ,  $\omega_b\omega_a$ ,  $\omega_b\omega_a$ ,  $\omega_b\omega_a$ ,  $(\omega_a\omega_b)^2$ ,  $(\omega_b\omega_a)^2$ ,  $(\omega_a\omega_b)^2\omega_a$ ,  $(\omega_b\omega_a)^2\omega_b$  or  $(\omega_a\omega_b)^3$ .

On the other hand, using the above description of the  $PSp_4(q)$  subgroup in  $P_1$ , with respect to (iii) we may take  $B \cong PSp_4(q)$  to be a subgroup in the following subgroup Q of  $SO_7(q)$ :

$$Q = \left\{ \begin{pmatrix} \frac{1}{0} & 0 & 0 \\ \hline 0 & \star & 0 \\ \hline 0 & 0 & 1 \end{pmatrix} \in SO_7(q) \right\} \cong SO_5(q) \cong PSp_4(q).2$$

Moreover,  $Q \cap G = B$  and hence  $A \cap Q = A \cap B$ . A direct computation shows that  $A \cap B$  consists of the following elements of A:

$$x_b(t_2)h_b(v), \quad x_b(t_2)h_b(v)\omega_b x_b(s_2) \qquad (v \in GF(q)^*, \ t_2, s_2 \in GF(q)).$$

Hence  $|A \cap B| = q(q^2 - 1)$  (in fact,  $A \cap B = \langle x_b(t), x_{-b}(t) \rangle \cong SL_2(q)$ ). Now order considerations imply G = AB. This is the factorization in (7) of the theorem.

Further, let  $A \cong G_2(q)$  be the subgroup of G described in the above paragraph and  $B \cong L_4(q)$  be the subgroup of G in the subgroup R of  $SO_7(q)$  which has the following form with respect to (iii):

$$R = \left\{ \begin{pmatrix} \frac{\star & 0 & \star}{0 & 1 & 0} \\ \hline 0 & 1 & 0 & \star \end{pmatrix} \in SO_7(q) \right\} \cong SO_6^+(q) \cong 2 \times L_4(q).$$

Here, again  $R \cap G = B$  and thus  $A \cap R = A \cap B$ . Just as above, we can find the common elements of these  $G_2(q)$  and  $L_4(q)$  subgroups of G; they are as follows:

$$x_{b}(t_{2})x_{3a+b}(t_{5})x_{3a+2b}(t_{6})h_{a}(u)h_{b}(v),$$

$$x_{b}(t_{2})x_{3a+b}(t_{5})x_{3a+2b}(t_{6})h_{a}(u)h_{b}(v)\omega_{b}x_{b}(s_{2}),$$

$$x_{b}(t_{2})x_{3a+b}(t_{5})x_{3a+2b}(t_{6})h_{a}(u)h_{b}(v)\omega_{a}\omega_{b}\omega_{a}x_{3a+b}(s_{5}),$$

$$x_{b}(t_{2})x_{3a+b}(t_{5})x_{3a+2b}(t_{6})h_{a}(u)h_{b}(v)(\omega_{a}\omega_{b})^{2}x_{b}(s_{2})x_{3a+2b}(s_{6}),$$

$$x_{b}(t_{2})x_{3a+b}(t_{5})x_{3a+2b}(t_{6})h_{a}(u)h_{b}(v)(\omega_{b}\omega_{a})^{2}x_{3a+b}(s_{5})x_{3a+2b}(s_{6}),$$

$$x_{b}(t_{2})x_{3a+b}(t_{5})x_{3a+2b}(t_{6})h_{a}(u)h_{b}(v)(\omega_{b}\omega_{a})^{2}\omega_{b}x_{b}(s_{2})x_{3a+b}(s_{5})x_{3a+2b}(s_{6}).$$
Hence  $|A\cap B| = q^{3}(q^{3}-1)(q^{2}-1)$  (in fact,  $A\cap B = (x_{\pm b}(t), x_{\pm (3a+b)}(t), x_{\pm (3a+2b)}(t))$ 

 $t \in GF(q) \cong SL_3(q)$ . Again order considerations imply G = AB. This is the factorization in (2) of the theorem.

Now, with respect to (iii), let  $A \cong G_2(q)$  be the same subgroup of G described above and  $B \cong U_4(q)$  be a subgroup, in realization (ii), of the group P considered in the previous case. Let  $Y, Z \in SL_7(q)$  and  $Y = K_0^{-1}ZK_0$ , where

$$K_0 = \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 & 1 \\ 0 & 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 \\ \lambda & 0 & 0 & 0 & 0 & 0 & -\lambda \end{pmatrix}.$$

Then  $Y^tIY = I$  if and only if  $Z^tJZ = J$ ; here I and J are the matrices described above.

A direct computation shows that the common elements (in realization (ii)) of the above  $G_2(q)$  and  $U_4(q)$  subgroups are

$$K_0^{-1}(x_a(t_1)x_b(t_2)x_{a+b}(t_3)x_{2a+b}(t_4)x_{3a+b}(t_5)x_{3a+2b}(t_6) \\ h_a(u)h_b(v)\omega x_a(s_1)x_b(s_2)x_{a+b}(s_3)x_{2a+b}(s_4)x_{3a+b}(s_5)x_{3a+2b}(s_6))K_{0,}$$

where:

$$\omega = 1 \text{ and } u = 1, t_1 = t_3 = t_4 = t_5 = t_6 = s_1 = s_2 = s_3 = s_4 = s_5 = s_6 = 0;$$

$$\omega = \omega_a \text{ and } s_2 = s_3 = s_4 = s_5 = s_6 = 0, s_1 = -u, t_1 = -uv^{-1}, t_3 = t_1t_2,$$

$$t_4 = t_1t_3, t_5 = -t_1t_4, t_6 = t_1t_2t_4 - t_1t_3^2 - t_3t_4 + u^{-1}v\lambda;$$

$$\omega = \omega_b \text{ and } u = 1, t_1 = t_3 = t_4 = t_5 = t_6 = s_1 = s_3 = s_4 = s_5 = s_6 = 0;$$

$$\omega = \omega_a\omega_b \text{ and } s_1 = s_4 = s_5 = s_6 = 0, s_3 = u, t_1 = -uv^{-1}, t_3 = t_1t_2, t_4 = t_1t_3,$$

$$t_5 = -t_1t_4, t_6 = \lambda u^{-1}v - t_3t_4;$$

$$\omega = \omega_b\omega_a \text{ and } s_2 = s_3 = s_4 = s_6 = 0, s_1 = -u, s_5 = -u^{-1}vt_1, t_3 = t_1t_2 - u^{-2}v,$$

$$t_4 = t_1t_3, t_5 = -t_1^2t_3 - \lambda u^2v^{-1}, t_6 = t_1^2t_2t_3 - 2t_1t_3^2;$$

$$\omega = \omega_a\omega_b\omega_a \text{ and } s_2 = s_3 = s_6 = 0, s_1 = u^{-1}vt_1, s_4 = t_1t_3 - t_4, s_5 = -u - 2s_1s_4,$$

$$t_3 = t_1t_2 + u^{-2}v\lambda - u^{-2}vs_4^2, t_5 = u^2v^{-1} - t_1t_4, t_6 = t_1t_2t_4 - t_1t_3^2 - t_3t_4;$$

 $\omega = \omega_b \omega_a \omega_b$  and  $s_1 = s_4 = s_5 = 0$ ,  $s_3 = u$ ,  $s_6 = u^{-1}vt_1$ ,  $t_3 = -u^{-2}v + t_1t_2$ ,  $t_4 = t_1t_3$ ,  $t_5 = -u^2v^{-1}\lambda - t_1t_4$ ,  $t_6 = t_1t_2t_4 - t_1t_3^2 - t_3t_4$ ;

 $\omega = (\omega_a \omega_b)^2$  and  $s_1 = s_5 = 0$ ,  $s_6 = u - 2s_3 s_4$ ,  $t_1 = -uv^{-1} s_3$ ,  $t_3 = t_1 t_2 - u^{-2} v s_4^2 + u^{-2} v \lambda$ ,  $t_4 = t_1 t_3 - s_4$ ,  $t_5 = u^2 v^{-1} - t_1 t_4$ ,  $t_6 = t_1 t_2 t_4 - t_1 t_3^2 - t_3 t_4$ ;

 $\omega = (\omega_b \omega_a)^2$  and  $s_2 = s_3 = 0$ ,  $s_5 = -u - 2s_1 s_4$ ,  $t_1 = uv^{-1}(s_4^2 - s_1 s_6 - \lambda)$ ,  $t_3 = u^{-2}vs_1 + t_1t_2$ ,  $t_4 = t_1t_3 - s_4$ ,  $t_5 = -u^2v^{-1}s_6 - t_1t_4$ ,  $t_6 = t_1t_2t_4 - t_1t_3^2 - t_3t_4 + u^{-1}v$ ;

 $\omega = (\omega_a \omega_b)^2 \omega_a \text{ and } s_2 = 0, t_1 = uv^{-1}(2s_1s_4 + s_5 - s_1^2s_3), t_3 = u^{-2}v(s_6 + 2s_3s_4) + t_1t_2, t_4 = t_1t_3 + s_4 - s_1s_3, t_5 = -u^2v^{-1}s_1 - t_1t_4, t_6 = t_1t_2t_4 - t_1t_3^2 - t_3t_4 - u^{-1}vs_3, s_4^2 + s_3s_5 - s_1s_6 - 2s_1s_3s_4 = u + \lambda;$ 

 $\omega = (\omega_b \omega_a)^2 \omega_b$  and  $s_1 = 0$ ,  $s_6 = u - 2s_3 s_4 - s_2 s_5$ ,  $t_1 = u v^{-1} (s_4^2 + s_3 s_5 - \lambda)$ ,  $t_3 = u^{-2} v s_3 + t_1 t_2$ ,  $t_4 = t_1 t_3 - s_4$ ,  $t_5 = -u^2 v^{-1} s_5 - t_1 t_4$ ,  $t_6 = u^{-1} v + t_1 t_2 t_4 - t_1 t_3^2 - t_3 t_4$ ;

 $\omega = (\omega_a \omega_b)^3 \text{ and } t_1 = -uv^{-1}(s_6 + 2s_3s_4 + s_2s_5), t_3 = t_1t_2 - u^{-2}v(s_1^2s_3 - 2s_1s_4 - s_5), t_4 = t_1t_3 + s_4 - s_1s_3, t_5 = u^2v^{-1}s_3 - t_1t_4, t_6 = t_1t_2t_4 - t_1t_3^2 - t_3t_4 - u^{-1}vs_1, s_4^2 + (s_3 - s_1s_2)s_5 - 2s_1s_3s_4 - s_1s_6 = u + \lambda.$ 

Hence  $|A \cap B| = q^3(q^3+1)(q^2-1) = |SU_3(q)|$  (in fact, from [7, 5.1.14 (a)] we can see that  $A \cap B \cong SU_3(q)$ ). Order considerations yield G = AB and the factorization in (3) of the theorem is proved.

Case 4. Here  $q=3^{2n+1}>3$ . In case 3 we proved that G=AB, where  $A\cong G_2(3^{2n+1})$ ,  $B\cong L_4(3^{2n+1})$  and  $D=A\cap B\cong SL_3(3^{2n+1})$ . Take a subgroup  $C\cong {}^2G_2(3^{2n+1})$  of A. Then (as shown in [9]) A=CD. It follows that  $|C\cap B|=|C\cap D|=q-1$ . This implies G=CB, the factorization in (4) of the theorem.

Case 5. Suppose that G = AB. As A lies in a subgroup  $A_1 \cong G_2(q)$  of G, we have also  $G = A_1B$ . Since  $|A \cap (A_1 \cap B)| = |A \cap B| = q^2 - 1$ , it follows (by order considerations) that  $A_1 = A(A_1 \cap B)$ . Now, from the list of all the factorizations of  $G_2(q)$  given in [5], it follows that this is possible only if  $A_1 \cap B \cong L_3^{-\epsilon}(q)$ , and  $q = 3^{2n+1}$  if  $\epsilon = -$ ,  $q = 3^{2n}$  if  $\epsilon = +$ .

Conversely, with these restrictions on q, let  $A_1 \cong G_2(q)$  and  $B \cong L_4^{-\epsilon}(q)$  be the subgroups of G described in case 3. As we have seen,  $A_1 \cap B \cong L_3^{-\epsilon}(q)$  and then (by [10]) there is a subgroup  $A \cong L_3^{\epsilon}(q)$  of  $A_1$  such that  $A_1 = A(A_1 \cap B)$ . It follows that  $|A \cap B| = |A \cap (A_1 \cap B)| = q^2 - 1$  and hence G = AB, the factorizations in (5) and (6) of the theorem.

This completes the proof.

#### REFERENCES

- 1. Gentchev, Ts., E. Gentcheva. Factorizations of some groups of Lie type of Lie rank 3. Ann. Univ., Appl. Math., 1990 (to appear).
- Gentchev, Ts., E. Gentcheva. Factorizations of the groups PSU<sub>6</sub>(q). Ann. Sof. Univ., 86, 1992, 79-85.

- Gentchev, Ts., E. Gentcheva. Factorizations of the groups PSp<sub>6</sub>(q). Ann. Sof. Univ., 86, 1992, 73-78.
- 4. Gentchev, Ts., K. Tchakerian. Factorizations of the groups of Lie type of Lie rank three over fields of 2 or 3 elements. Ann. Sof. Univ., 85, 1991, 83-88.
- 5. Hering, C., M. Liebeck, J. Saxl. The factorizations of the finite exceptional groups of Lie type. J. Algebra, 106, 1987, 517-527.
- Kleidman, P., M. Liebeck. The subgroup structure of the finite classical groups. London Math. Soc. Lecture Notes, 129, Cambridge University Press, 1990.
- Liebeck, M., C. Praeger, J. Saxl. The maximal factorizations of the finite simple groups and their automorphism groups. Memoirs AMS, 86, 1990, 1-151.
- 8. Ree, R. On some simple groups defined by C. Chevalley. Trans. Amer. Math. Soc., 84, 1957, 392-400.
- Tchakerian, K., Ts. Gentchev. On products of finite simple groups. Arch. Math., 41, 1983, 385-389.
- Tchakerian, K., Ts. Gentchev. Factorizations of the groups G<sub>2</sub>(q). Arch. Math., 44, 1985, 230-232.

Received on May 27, 1997

Department of Mathematics Technical University 9010 Varna, Bulgaria